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1. Use partial fractions to set up but do not solve for the constants A, B, C, D, or E.
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2. Use partial fractions to decompose Solve for the constants.
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3. Satellite Dish. A satellite dish measures 144 feet across its opening and 24 feet deep at
its center. The receiver should be placed at the focus of the parabolic dish. Where is the focus?
The focus is | | feet away from the vertex of the satellite dish.
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4. Find the center, vertices, foci, asymptotes, and graph. 4 25
¢ (‘-*3 3) hjpexbaia open LR
=2 LR
A=t \
b =5 UlD " [ o
T, -t5 ., N
2 ”' C
Al . 2 i\!\fu' i F
F(* v, — v
\V( -1,2) \ //\\%\
| v (-5,2) | /! \\y
e e v/ | v
| I\
/ |
ssw\
5. Find the center, vertices, foci, and graph. 2> “+2y’-8y-42=0 A LT
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Write the first four terms of the sequence. Assume " starts at 1
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Find the sum of the first 15termsof 1 +4 + 7 + 10+... e},
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9. Find the sum and round your answer to three decimal places
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w _ b L
TS ORI
211
A N SNNE
-
| | |
s - L A LS ,\,}w
R | T T 10
‘..v,L» fo -
X e
i

11. Find the sum and write as an exact answer. If it is not possible to find the sum, enter NS.
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